
Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]-EXT-101

F.Y. B.A. EXAMINATION, 2019

(For External)

COMPULSORY ENGLISH

Text Prescribed : Visionary Gleam (Prose/Poetry)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [20]

(A) (i) Attempt a character sketch of an astrologer.

(ii) What are the six pillars of self-esteem ?

(B) (i) Explain ‘The Gift of the Magi’ as a story of love

and sacrifice.

(ii) Analyse the theme of the story ‘Karma’.

2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [20]

(A) (i) Illustrate ‘A Red, Red Rose’ as a love lyric.

(ii) Explain Rabindranath Togore’s view in relation to spirituality

through the poem ‘Where the Mind is Without Fear’.

P.T.O.
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(B) (i) Discuss the central theme of the poem “If You Call Me”.

(ii) Explain the similies and hyperbole in the poem ‘A Red,

Red Rose’.

3. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [20]

(A) (i) How can youth of India make themselves fit for the task

of serving the nation ?

(ii) What message does Nehru convey in the midnight of

freedom through the speech ‘A Tryst with Destiny’ ?

(B) (i) How does Dr. B. R. Ambedkar describe the importance

of Democracy ?

(ii) Discuss ‘The Eyes are not Here’ as a touching story about

two blind co-passengers.

4. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [20]

(A) (i) Comment on ‘Upon Westminster Bridge’ as a nature

poem.

(ii) What characteristics of the old woman are noticed by

the narrator ?

(B) (i) Illustrate the theme of desire and want in the poem

‘Success is Counted Sweetest’.

(ii) What is the narrator’s attitude towards the old woman ?
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5. (A) Attempt any five of the following : [10]

(i) The President of India ................... (arrive) in Mumbai

next month. Everyone is busy preparing for his visit.

Workers ................... (clean up) the streets.

 (Use correct forms of the verb)

(ii) Choose the correct alternative and rewrite the following

sentence :

Ramesh ..................... the book and can talk to us about

it. (read/has read)

(iii) Fill in the blanks in the sentence below, putting the verbs

in brackets in either the simple past or the past perfect

tense, as required.

The sun ................... (set) by the time we .....................

(leave).

(iv) Fill in the blanks in the sentence below using the appropriate

form (singular/plural) of the verb given in brackets :

Lalita ................... (speak : simple present) English fluently.

(v) One of my friends is/are a film actor.

(Choose the correct alternative and rewrite)

(vi) Raydu complete his net practice at Wankhede Stadium,

Mumbai, yesterday.

(Correct the sentence and rewrite)

(vii) Fill in the blanks in the sentence below, putting the

verbs in brackets in either simple past or past progressive

tense :

When the Principal .................. (walk) into the classroom,

he .................... (see) the teacher giving assignments.
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(B) Attempt any two of the following : [10]

(i) Krushnakant comes to know that his friend Vijay stood

first in the state level debate competition. Write an informal

dialogue.

(ii) Mr. Dhiraj Patel and Mr. Vikrant Jadhav discuss the

issue on caste based politics in India. They agree on

some points and disagree on others. Write a dialogue

based on this situation.

(iii) The general manager of Tata Motors Company invites

two colleagues to lunch. One accepts and other declines

the invitation. Write a dialogue based on this situation.



Total No. of Questions—5+5] [Total No. of Printed Pages—8

Seat

No. [5501]-EXT-102

F.Y. B.A. EXAMINATION, 2019

MARATHI

(For External)

G-1 : 

(2013 PATTERN)

 : — (i) 

    (ii) 

    (iii) 

100

 :— (i)

(ii)

1. [10]

(i)

(ii)

(iii)

(iv)

[10]

(i)

(ii)

(iii)

(iv)

P.T.O.
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2. [10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

[10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

3. [10]

(i)

(ii)
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[10]

(i)

(ii)

4. [15]

(i)

(ii)

[15]

(i)

(ii)

5. [5]

(i) Advertisement

(ii) Act

(iii) Notice

(iv) Agenda

(v) University

(vi) Examination

(vii) External

(viii) Cell

(ix) Clerk

(x) Driver.
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[5]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)
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[5501]-EXT-102

G-1 : 

100

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(a)

(b)

(x)

(a)

(b)
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(xi)

(a)

(b)

(xii)

(a)

(b)

(xiii)

(a)

(b)

2. [10]

(i)

(ii)

[10]
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3. [10]

(i)

(ii)

[10]

A man with a small salary is very likely to get into difficulties

unless he learns to “budget” for his monthly spending. A fixed

amount should be set aside under each heading—rent, food,

clothing, insurance, school-fees and so on. The ideal budget

would also include a fixed sum, no matter how small to be

set apart each month as “saving”. Indeed this better be paid

into the Post Office or the Bank and not kept at home. Until

all this has been done, nothing should be spent on luxuries.

Only by such a method can a man live within his income

and make both the ends meet.
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4. [20]

(i)

(ii)

5. [20]

(i)

(ii)

(iii)



P.T.O.

Total No. of Questions—3+5] [Total No. of Printed Pages—7

Seat

No. [5501]-EXT-103

F.Y. B.A. EXAMINATION, 2019
(For External)

FRENCH (ADVANCED)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 100
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[5501]-EXT-103
FRENCH (BEGINNERS)

TEXT : Nouvel En Échanges—Raddi/Paranjpye

Time : Three Hours Maximum Marks : 100
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Total No. of Frages—5+5] [Total No. of Printed Pages—8

Seat

No. [5501]-EXT-104

F.Y. B.A. EXAMINATION, 2019

(For External)

GERMAN (BASIC)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

Note :— All questions are compulsory. Use of a dictionary is not allowed.

P.T.O.

Goethe gelebt. Der Reiseleiter erzahit uns viel Interessantes über sein Leben. Goethe ist 1749 in

(A)  Beantworten Sie die folgenden Fragen! (Nur 5) (10)
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[5501]-EXT-104
GERMAN (ADVANCED)

Time : Three Hours Maximum Marks : 100

Note :— Use of a dictionary is not allowed.
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P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5501]-EXT-106

F.Y. B.A. EXAMINATION, 2019

(For External)

GUJARATI

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100
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Total No. of Questions—5] [Total No. of Printed Pages—3

[5501]-EXT-107

F.Y. B.A. EXAMINATION, 2019

(For External)

URDU

(General Paper)

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 100

N.B. :—(1) Attempt  All questions.

(2) Figures to the left indicate full marks.

(A) Bang-e-Dara Part-I.

(B) Chand Hum Asr by Maulvi Abdul Haque.

P.T.O.

 Seat
  No.
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Total No. of Questions—5+5] [Total No. of Printed Pages—11

Seat

No. [5501]-EXT-110

F.Y. B.A. EXAMINATION, 2019

(For External)

HINDI (G-1)

(2013 PATTERN)

100

 : — (i) 

     (ii) 

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

P.T.O.
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2. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

3. [12]

(i)

(ii)

(iii)
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[12]

(i)

(ii)

(iii)

4. [8]

(i) Approval

(ii) Capital

(iii) Duration

(iv) Entry

(v) Fund

(vi) Goods

(vii) Joining

(viii) Project

(ix) System

(x) Transfer.
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[6]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

[6]

Hindi is our cultural language. It takes its origin from Sanskrit

which incidentally, is the mother of all Aryan languages. Hindi

Literature is mirror of Indian culture. And it reflects in wide

sweep all that is truly and typically Indian, particularly its

spiritualism, philosophy and menifestation of culture and life.

Here we can name some literary of Hindi Literature like Sant

Kabir, Tulsidas, Surdas, Mira, Harish Chandra Bhartendu,

Jayshankar Prasad, Nirala, Mahadevi Varma, Premchand,

Kamleshwar, Harivanshray Bachhan etc.
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[6]

(1)

(2)

5. [10]

(i)

(ii)

(iii)
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[5501]-EXT-110

100

 :— (i)

(ii)

1.

[10]

(i) Account

(ii) Bill

(iii) Calculator

(iv) Damage

(v) Enable

(vi) Good-faith

(vii) Fund

(viii) Harbor

(ix) Laboratory

(x) Mayor

(xi) Project

(xii) Tenable.

[10]

(i) 49%

(ii) 10 × 5 = 50
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(iii) 32 ÷ 8 = 4

(iv) 66

(v) 80

(vi) 89%

(vii) 60 – 4 = 56

(viii)
1

2

(ix)
1

2
2

(x) 91

(xi) 87

(xii) 99.

2.

[10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)
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(viii)

(ix)

(x)

(xi)

(xii)

3.

[6]

[10]

(i)
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(ii)

(iii)

4. [10]

(i) JIO

(ii)

(iii)

(iv)

[6]

It is rightly said that God has created all the beautiful things

for the brave. Life for an idler is a burden. There is no gain

without pain. One can realise the importance of hard work in

ones life. A teacher is pleased only with the performance of

a hardworking student; a master is pleased with his hardworking

servant. And it is the hardworking student excellence in their

studies who are awarded scholarship the government.
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5. [18]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—5] [Total No. of Printed Pages—5

[5501]-EXT-111

F.Y. B.A. EXAMINATION, 2019

(For External)

PERSIAN

General  Paper  I

(2013  PATTERN)

Text : Aks-e-Farsi

Time : Three Hours   Maximum Marks : 100

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Define and illustrate any five of the following :  [15]

P.T.O.

 Seat
  No.



2. Write short notes on any three of the following : [15]

3. (A) Reproduce on any one of the following : [10]

(B) Write short notes on any three of the following : [15]

4. Translate and explain any ten couplets of the following : [20]

2 [5501]-EXT-111



P.T.O. 3 [5501]-EXT-111



5. (A) Translate the passages in English or Urdu or Marathi (any

two) : [15]

4 [5501]-EXT-111



(B) Translate the unseen English passage in Persian, Urdu  or

Marathi : [10]

The goals of our present system of primary and secondary

schooling are to prepare students for the examination system

which will take them to the best technical institutions in the

country while the teaching of science and mathematics has

over upgraded. The teaching of humanities and social sciences

continues to be straight jacketed in grotesque ways. Those

areas of the Indian reality which ought to form the proper

subjects like caste.

5 [5501]-EXT-111



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]-EXT-112

F.Y. B.A. EXAMINATION, 2019

(For External)

SANSKRIT

)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i)

All questions are compulsory.

(ii)

Figures to the right indicate full marks.

1.

[20]

Translate each two from Sections ‘A’ and ‘B’ into Marathi or

English :

Section ‘A’

(i)

P.T.O.
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(ii)

(iii)

Section ‘B’

(i)

(ii)
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(iii)

2. [20]

Explain with reference to the context any two from each Section

‘A’ and Section ‘B’ :

Section ‘A’

(i)

(ii)

(iii)

Section ‘B’

(i)

(ii)

(iii)

3. [20]

Critically appreciate the lesson 

Or

Guidance of  regarding establishment new village.
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4. [20]

Discuss on  as a modern poetry.

Or

Explain philosophy in .

5. [20]

Write critical notes on any two of the following :

(i)

Preaching of  to .

(ii)

(iii)

(iv)



Total No. of Questions—5] [Total No. of Printed Pages—4

[5501]-EXT-115

F.Y. B.A. EXAMINATION, 2019

(For External)

ARABIC

General  Paper  I

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 100

1. Translate into English or Urdu or Marathi any two of the following

passages : [20]

P.T.O.

 Seat

  No.



2. Translate and explain the following poem : [20]

2 [5501]-EXT-115



3. Define and illustrate any two of the following grammar : [20]

4. Write the short notes on any two of the following : [20]

5. (A) Translate the following sentences into English (any five) : [10]

P.T.O. 3 [5501]-EXT-115



(B) Translate the following sentences into Arabic (any five) : [10]

(1) No, his college is closed.

(2) He is going to his friend.

(3) There is a student in the class.

(4) His office is far from his home.

(5) The new teacher is a tall man.

(6) On the window there is curtain.

(7) There is a table in the room.

4 [5501]-EXT-115



P.T.O.

Total No. of Questions—5+5] [Total No. of Printed Pages—6

Seat

No. [5501]-EXT-116

F.Y. B.A. EXAMINATION, 2019

(For External)

ECONOMICS

G-1 : Indian Economy : Problems and Prospects

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]

(i) What is Developing Economy ? State the characteristics of

Indian Economy as a Developing Economy.

(ii) Explain the causes of overpopulation and write the measures

to control the population in India.

2. Attempt any one of the following questions : [20]

(i) What is unemployment ? Explain the causes of unemployment

in India.

(ii) State the causes of suicide of farmers in India and explain

the preventive measures on suicide of farmers.
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3. Attempt any one of the following questions : [20]

(i) Explain in detail progress and problems of Iron & Steel Industry

in India.

(ii) What is Industrial Dispute ? Explain the causes of Industrial

Dispute.

4. Attempt any one of the following questions : [20]

(i) What is Economic Planning ? Explain the various types of

Economic Planning.

(ii) Explain the role of Cooperative in economic development in

Maharashtra.

5. Write short notes on any two of the following : [20]

(i) Quality of population

(ii) Low productivity of agriculture in India

(iii) Sugar industry in India

(iv) Objectives of 12th Five Year Plan.

100

 :— (i)

(ii)

(iii)

[20]

(i)
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(ii)

[20]

(i)

(ii)

[20]

(i)

(ii)

[20]

(i)

(ii)

[20]

(i)

(ii)

(iii)

(iv)
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[5501]-EXT-116

G-1 : Agricultural Economics

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one question of the following : [20]

(a) What is Agricultural Economics ? Explain nature, scope and

importance of Agricultural Economics.

(b) What is Agricultural Productivity ? Explain the causes of low

productivity of Agriculture in India.

2. Attempt any one question of the following : [20]

(a) What are the causes of farmers suicide in India ? Give the

measures to prevent farmers’ suicide.

(b) What is Co-operative Marketing ? Explain the merits and

demerits of Co-operative Marketing in India.

3. Attempt any one question of the following : [20]

(a) Define Agricultural Labour. Explain the features and types of

Agricultural Labour.

(b) What are the sources of Agricultural Finance ? Explain the

problems of Agricultural Finance.
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4. Attempt any one question of the following : [20]

(a) State the importance of irrigation in Agriculture. Explain the

types of New Irrigation System.

(b) State the objectives of W.T.O. Explain in detail Agreement

on Agriculture of W.T.O.

5. Write short notes on (any two) : [20]

(a) Green Revolution

(b) Agricultural Price Policy

(c) Role of Micro-Finance

(d) Role of farmer in Water Management.

100

 :— (i)

(ii)

(iii)

[20]

[20]
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[20]

[20]

(W.T.O.)

[20]



Total No. of Questions—5+5] [Total No. of Printed Pages—6

Seat

No. [5501]-EXT-117

F.Y. B.A. EXAMINATION, 2019

(For External)

POLITICAL SCIENCE

G-1 : Indian Government and Politics

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one question of the following : [20]

(a) Explain salient features of the Indian Constitution.

(b) Discuss the issues of Regional Imbalance in India.

2. Attempt any one question of the following : [20]

(a) Explain the structure and functions of Rajya Sabha.

(b) Explain the structure, powers and functions of Election

Commission.

3. Attempt any one question of the following : [20]

(a) Explain the powers, functions and role of the President.

(b) Explain the important features of Indian Party System and

explain importance of regional Political Parties.

P.T.O.
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4. Attempt any one question of the following : [20]

(a) Explain the salient features of Indian Federation.

(b) Explain the importance of caste and religion in Indian Politics.

5. Write short notes on any two of the following : [20]

(a) Fundamental Duties

(b) Speaker of Lok Sabha

(c) Reasons for the rise of O.B.C. Politics

(d) Role of Regional Political Parties in Indian Politics.

100

 :— (i)

(ii)

(iii)

1. [20]

2. [20]
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3. [20]

4. [20]

5. [20]
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[5501]-EXT-117

G-1 : Modern Indian Political Thought

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following : [20]

(a) Explain Mahatma Jyotiba Phule’s views on Shudra-Atishudra.

(b) Explain M.G. Ranade’s understanding of British Rule in India

and his views on state and economy.

2. Answer any one of the following : [20]

(a) Explain B.G. Tilak’s views on Swarajya.

(b) Discuss M.K. Gandhi’s theory of Satyagraha and forms of

Satyagraha.

3. Answer any one of the following : [20]

(a) Discuss Dr. B.R. Ambedkar’s critique of caste system and ways

to annihilate the caste system in India.

(b) Explain M.N. Roy’s critique on Marxism.

4. Answer any one of the following : [20]

(a) Discuss V.D. Savarkar’s critique of British Rule in India.

(b) Explain Abul Kalam Azad’s views on Communal Harmony.
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5. Write notes on (any two) : [20]

(a) V.D. Savarkar’s theory of Hindutva

(b) Mahatma Phule’s views on Sarvjanik Satyadharma

(c) M.G. Ranade’s Liberalism

(d) Abul Kalam Azad’s Interpretation of Islam.

100

 :— (i)

(ii)

1. [20]

2. [20]

3. [20]
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4. [20]

5. [20]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-118

F.Y. B.A. EXAMINATION, 2019

(For External)

HISTORY (General)

[G-1 : Chh. Shivaji and His Times (1630-1707 A.D)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]

(a) Explain the Marathi sources to study Chh. Shivaji and his

times.

(b) Explain the concept ‘Swarajya’, ‘Chauthai’ and ‘Sardesmukhi’.

2. Attempt any one of the following questions : [20]

(a) Explain as how did Chh. Shivaji Maharaj lay the foundation

(upto 1656 A.D.) of the Swarajya.

(b) What were the reasons for the coronation of Chh. Shivaji

Maharaj ?

3. Attempt any one of the following questions : [20]

(a) Explain the Chh. Shivaji Maharaj’s relations with the English.

(b) Explain the Chh. Sambhaji Maharaj’s relations with the Portuguese.

4. Attempt any one of the following questions : [20]

(a) Evaluate the contribution of Chh. Rajaram Maharaj to the Maratha

war of Independence.

(b) Explain the sources of Income of Maratha Kingdom.
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5. Write short notes on (any two) : [20]

(a) Rajmata Jijabai

(b) ‘Shiledars’ and ‘Bargirs’

(c) Fort Administration

(d) Balutedari system.

100

 :— (i)

(ii)

(iii)

[20]

[20]

[20]
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[20]

[20]



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-119

F.Y. B.A. EXAMINATION, 2019

(For External)

ANTHROPOLOGY

(G-1 : Introduction to Social and Cultural Anthropology)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain the nature and scope of Anthropology. [20]

Or

Explain the characteristics of Tribal Economy.

2. What is Culture ? Explain the various features of culture. [20]

Or

Explain the nature of Law and Justice among Adivasis.

3. Explain the kinship behaviour among tribal communities. [20]

Or

Describe the four stages of Tribal Economy.

P.T.O.
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4. Describe the types and functions of magic. [20]

Or

Describe the various ways of acquiring mates in tribal society.

5. Write notes on any two of the following : [20]

(i) Ape man

(ii) Shifting Cultivation

(iii) Totem

(iv) Anthropology and Sociology.

100

 :— (i)

(ii)

(iii)

1. [20]

2. [20]
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3. [20]

4. [20]

5. [20]

(i)

(ii)

(iii)

(iv)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-120

F.Y. B.A. EXAMINATION, 2019

(For External)

G-1 : GEOGRAPHY

(Gg-110 : Elements of Geomorphology)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencil is allowed.

1. Answer in 20 words each (any ten) : [20]

(i) Define geomorphology.

(ii) State any two branches of physical geography.

(iii) What is international date line ?

(iv) Who and when proposed continental drift theory ?

(v) State any two examples of metamorphic rock.

(vi) What is faulting ?

(vii) What is weathering ?

(viii) What is delta ?

(ix) What is mass wasting ?

(x) Define slope.

(xi) What is landslide ?

(xii) What is ‘Tsunami’ ?

(xiii) Write any two geographical features surrounding to your area.
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2. Answer in 50 words each (any two) : [10]

(i) Shape and size of the earth.

(ii) Block mountain and rift valley.

(iii) Biological weathering.

(iv) Types of slope.

3. Answer in 150 words each (any two) : [20]

(i) Explain nature of geomorphology.

(ii) Give classification of igneous rock with diagram.

(iii) Describe the landforms associated with erosional work of sea

waves.

(iv) Elaborate the applications of geomorphology in human activities.

4. Answer in 300 words each (any two) : [30]

(i) Describe interior of the earth with diagram.

(ii) What is earthquake ? Write the causes and effects of earthquake.

(iii) What is mechanical weathering ? Describe the process of mechanical

weathering in detail.

(iv) Explain various types of mass wasting with diagram.

80

 :— (i)

(ii)

(iii)

(iv)

(v)

[20]

i

ii
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(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

[10]

(i)

(ii)

(iii)

(iv)

[20]

(i)

(ii)

(iii)

(iv)

[30]

(i)

(ii)

(iii)

(iv)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5501]-EXT-122

F.Y. B.A. EXAMINATION, 2019

(For External)

PUBLIC ADMINISTRATION

(G-1 : Principles of Public Administration)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]

(1) Explain the meaning, nature and scope of Public Administration.

(2) Explain the traditional approach to the study of Public

Administration.

2. Attempt any one of the following questions : [20]

(a) Explain the objectives and types of training.

(b) Explain the types and budgetary process in India.

3. Attempt any one of the following questions : [20]

(a) Explain the meaning and methods of Recruitment.

(b) Explain merits and demerits of Hierarchy.

4. Attempt any one of the following questions : [20]

(a) State the merits and demerits of Bureaucracy.

(b) Explain the bases of Departmental Organisation.
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5. Write short notes on (any two) : [20]

(a) Significance of Public Administration

(b) Difference between Public and Private Administration.

(c) Leadership

(d) Span of Control.

100

 :— (i)

(ii)

[20]

[20]

[20]

[20]

[20]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-123

F.Y. B.A. EXAMINATION, 2019

(For External)

PSYCHOLOGY

G-1 : General Psychology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. (a) What is attention ? Explain in detail types of attention. [20]

Or

(b) What is frustration ? Explain the sources of frustration and

types of motivational conflicts.

2. (a) Explain the goals of psychology and describe the different

approaches of psychology. [20]

Or

(b) Explain the functions and importance of endocrine glands in

human body.

3. (a) Explain the experiment of classical conditioning and describe

the basic concepts related to classical conditioning. [20]

Or

(b) Explain the definition, nature of EQ. State the effects of emotions

on health.
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4. (a) Explain the mentally challenged people. Describe its types and

causes. [20]

Or

(b) Write the definition of personality and explain the techniques

of personality assessment.

5. Write short notes in 200-250 words each (any two) : [20]

(i) Survey method and case study method

(ii) Neurotransmitters

(iii) Motivational cycle

(iv) Basic concepts in measurement of intelligence.

100

 :— (i)

(ii)

(iii)

(iv)

[20]

[20]
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[20]

[20]

[20]

(i)

(ii)

(iii)

(iv)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-124

F.Y. B.A. EXAMINATION, 2019

(For External)

GANDHIAN THOUGHTS

G-1 : Introduction to Gandhian Thoughts

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Give brief introduction of Gandhiji’s life. [20]

Or

Explain Gandhiji’s views on ‘Varnashramdharm’.

2. State Gandhiji’s concept of Satya and Ahimsa and discuss interrelation

between them. [20]

Or

Explain fully importance of Kheda and Bardoli Satyagraha.

3. Explain salient features of ‘Ideal Satyagrahi’ according to

Gandhiji. [20]

Or

What is consistency between words and action derived by Mahatma

Gandhi ?

4. Explain Gandhiji’s views on Ends and Means. [20]

Or

Explain the basic characteristics of Gandhiji’s personality and role

as a ‘Political Leader’.
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5. Write short notes in 100 words each (any four) : [20]

(i) Impact of Bhagwadgita on Gandhiji

(ii) Sarvadharmasambhava

(iii) Any one sin

(iv) Concept of Sarvodaya

(v) Champaranya Satyagraha

(vi) Gandhiji’s concept of ‘fearlessness’

100

 :— (i)

(ii)

(iii)

[20]

[20]

[20]

[20]
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[20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-126

F.Y. B.A. EXAMINATION, 2019

(For External)

HISTORY OF CIVILIZATION

General Paper I

(Cultural History of Maharashtra : Upto 13th Century)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions (any one) : [20]

(i) Discuss the geographical features of Maharashtra.

Or

(ii) Explain the achievements of Yadavas of Devagiri in the History

of Maharashtra.

2. Answer the following questions (any one) : [20]

(i) Write report on excavation Dayamabad and Inamgaon.

Or

(ii) Discuss the ‘Gaongada’ (Village Community) in Maharashtra.

P.T.O.



[5501]-EXT-126 2

3. Answer the following questions (any one) : [20]

(i) Describe the internal and foreign trade in Maharashtra.

Or

(ii) Take a review of Sant Literature of Medieval Maharashtra.

4. Answer the following question (any one) : [20]

(i) State the philosophy of Mahanubhav Sect.

Or

(ii) Take a review of Prakrit Literature.

5. Write short notes on (any two) : [20]

(i) Concept of Civilization

(ii) Vakataka

(iii) Temples in Maharashtra

(iv) Jain Agam.

100

 :— (i)

(ii)

1. [20]

(i)

(ii)
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2. [20]

(i)

(ii)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

5. [20]

(i)

(ii)

(iii)

(iv)



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-127

F.Y. B.A. EXAMINATION, 2019

(For External)

HOME ECONOMICS

G-I : Household and General Economics

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Diagrams must be drawn wherever necessary.

(iii) Figures to the right indicate full marks.

1. Answer the following questions in 500 words each (any one) : [20]

(i) State the different methods of measuring price elasticity of

demand.

(ii) Explain the primary and secondary functions of commercial

banks.

2. Answer the following questions in 500 words each (any one) : [20]

(i) Explain the sources of family income and sources of family

expenditure.

(ii) Explain the law of demand with a suitable example.

P.T.O.
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3. Answer the following questions in 500 words each (any one) : [20]

(i) Explain the nature and importance of decision-making.

(ii) Describe the different steps of Home Management.

4. Answer the following questions in 500 words each (any one) : [20]

(i) Explain the importance of human values and goals in human

life.

(ii) Explain the elements of interior and exterior house decoration.

5. Write short notes on (any two) : [20]

(i) Basic economics problems

(ii) Functions of money

(iii) Home management

(iv) Economics law.

100

 :— (i)

(ii)

(iii)

(iv)

1. [20]

(i)

(ii)
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2. [20]

(i)

(ii)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

5. [20]

(i)

(ii)

(iii)

(iv)



Total No. of Questions—5+5+5] [Total No. of Printed Pages—9

Seat

No. [5501]-EXT-128

F.Y. B.A. EXAMINATION, 2019

(For External)

DEFENCE AND STRATEGIC STUDIES

D.S. G-1 (A) : Defence Mechanism of India

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Trace the growth of Indian Air Force since 1947. [20]

Or

Explain the characteristics, role and limitation of Signal Corps.

2. Describe the principles of Defence Administration. [20]

Or

Explain with the help of chart the organisation of Army Headquarter.

3. State the characteristics, role and limitation of Navy. [20]

Or

State with the help of chart the Higher Defence organization of

India.

P.T.O.
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4. What are the characteristics, role and limitation of Infantry ? [20]

Or

Explain the characteristics, role and limitation of Indian Air Force.

5. Write short notes on (any two) : [20]

(i) Army Service Corps (ASC)

(ii) Civil Defence

(iii) Central Reserve Police Force

(iv) National Security Council.

100

 :— (i)

(ii)

1. [20]

2. [20]
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3. [20]

4. [20]

5. [20]

(i)

(ii)

(iii)

(iv)
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[5501]-EXT-128

D.S. G-1 (B) : Military Thinkers in 19th Century

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain the meaning, nature and effect of Cultural Revolution. [20]

Or

Explain Halford Mackinder’s Heartland theory.

2. Explain Ludendorff ’s concept of Total War. [20]

Or

Explain Douhet’s theory of Air Power.

3. Describe geopolitical theories by Karl Houshopher. [20]

Or

Describe in detail strategic thought by Clausewitz.

4. State the views of Mao Zedong about Guerrilla strategy. [20]

Or

Explain the military thought by Jomini.
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5. Answer in brief (any two) : [20]

(i) J.F.C. Fuller

(ii) Jomini

(iii) Marshal Foch

(iv) Admiral A.T. Mahan.

100

 :— (i)

(ii)

(iii)

1. [20]

2. [20]

3. [20]
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4. [20]

5. [20]

(i)

(ii)

(iii)

(iv)



[5501]-EXT-128 7 P.T.O.

[5501]-EXT-128

D.S. G-1 (C) : Post-Cold War India’s Security Environment

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Define Globalization. Explain in detail the impact of Globalization

on India. [20]

Or

Describe in detail the India’s Internal security challenges.

2. Explain in detail the non-military challenges of security. [20]

Or

Explain the new trends of terrorism.

3. Describe the India’s status in New World Order. [20]

Or

Explain the structure and functions of E.U.

4. What are the various issues of Environment ? Explain. [20]

Or

What is N.C.T.C. ? N.C.T.C. is the best way of on terrorism.

Explain.
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5. Write short notes on (any two) : [20]

(i) Characteristics of Globalization

(ii) Naxalism

(iii) World Trade Organisation (W.T.O.)

(iv) Structure of N.C.T.C.

100

 :— (i)

(ii)

1.

[20]

2. [20]

3. [20]
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4. [20]

5. [20]

(i)

(ii)

(iii) (W.T.O.)

(iv)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-129

F.Y. B.A. EXAMINATION, 2019

(For External)

SOCIAL WORK

(I) Social Reform Movements in India

(II) Introduction to Social Welfare and Social Services

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [20]

(1) Discuss the objectives and activities of Arya Samaj.

(2) Write an essay on origin and development of social services

in India during British period.

2. Answer any one question in 500 words :  [20]

(1) Discuss the Antyodaya Movement.

(2) State the social services for handicapped.

3. Answer any one question in 500 words : [20]

(1) State the planned provisions for social services for OBCs in

India.

(2) Discuss the social reform movements by Mahatma Gandhi.
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4. Answer any one question in 500 words : [20]

(1) Discuss the specific social services for the deprived sections

of the society.

(2) ‘‘Social Work leads to Social Welfare.’’ Discuss.

5. Write short notes on (any two) : [20]

(1) Objectives of Brahmo Samaj

(2) Gramdan Movement

(3) Social Welfare

(4) Problems of Unorganised Workers.

100

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5501]-EXT-130

F.Y. B.A. EXAMINATION, 2019

(For External)

MATHEMATICAL STATISTICS

(Discrete Probability and Probability Distributions)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and calculators is allowed.

(iv) Symbols have their usual meanings.

1. (a) Choose the correct alternative from the following : [1 each]

(i) Which of the following statements is true ?

(A) Events A and A’ form the partition of sample

space �.

(B) Event A and sample space � forms the partition

of the sample space �.

(C) Only two events cannot form partition of the sample

space �.

(D) A and A’ do not form partition of the sample

space �.
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(ii) If two dice are thrown, then probability that both outcomes

are same is :

(A) 1/36

(B) 1/6

(C) 12/36

(D) 8/36

(iii) If E(X) = 1 and Var(X) = 4. Let Y = X – 2, then E(Y)

and Var(Y) is given by :

(A) –1, 4

(B) 1, 4

(C) 1, 2

(D) 0, 2

(iv) If X ~ B(n1, p) and Y ~ B(n2, p) also X and Y are

independent, then the distribution of X + Y is :

(A) B(n1 + n2, p)

(B) B(n1 + n2, 2p)

(C) B(n1 + n2, 1 – p)

(D) Not a Binomial distribution

(v) If X and Y are independent random variables with cumulant

generating function KX(t) and KY(t) respectively, then the

cumulant generating function of the random variable

X + Y is :

(A) KX(t) * KY(t)

(B) KX(t) + KY(t)

(C) KX(t) – KY(t)

(D) KX(t)/KY(t)
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(b) State whether the following statements are true or false :

[1 each]

(i) For Poisson random variable mean and variance are same.

(ii) Geometric distribution satisfies the additive property.

(iii) For random variables X and Y,

Var(X – Y) = Var(X) – Var(Y) – 2Cov(X, Y).

(iv) An elementary event is an event containing only one

element.

(v) For a discrete sample space the number of elements in

the sample space is uncountable.

(c) Answer the following : [2 each]

(i) Define conditional probability of an event.

(ii) For a probability distribution of a random variable X,

obtain the mode of X :

X P(x)

–1 1/8

0 3/8

1 2/8

1 2/8

(iii) The Karl Pearson’s coefficient of correlation between X

and Y is –0.6. Hence obtain the correlation between

U = 2X + 3, V = 8Y – 4.

(iv) Let X is a Poisson random variable with mean 3. Obtain

the third cumulant of X.

(v) Define degenerate distribution and find its mean.
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2. Attempt any four of the following : [4×5=20]

(a) Define the following terms :

(i) Complement of an event

(ii) Exhaustive events

(iii) Mutually exclusive events

(iv) Sure event

(v) Relative complement of an event.

(b) Define Bernoulli random variable with an illustration. Also find

its mean and variance.

(c) If P(A) = 0.2, P(B) = 0.5, P(A � B) = 0.1, then calculate

P(A � B) and P(A � B�).

(d) The p.m.f. of a discrete random variable X is given by :

X = x P(X = x)

–2
1

12

–1
1

6

0
1

6

1
1

4

2
1

3

Calculate :

(i) Median

(ii) E(2X + 1).

(e) Give classical definition of probability. State the axioms of the

probability.
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(f) If X and Y are two independent random variables, then show

that E(XY) = E(X).E(Y). Hence comment on their correlations.

3. Attempt any four of the following : [4×5=20]

(a) Define Poisson random variable with parameter m. Derive its

moment generating function.

(b) With usual notations prove that :

E(X – k)2 = Var(X) + [E(X) – k]2

where k is a constant.

(c) An urn contains 6 blue and 4 red balls. Three balls are drawn

at random without replacement. What is the expected number

of red balls that will be obtained ?

(d) For a binomial random variable X � B(n, p), show that :

(i)
X

E p
n

� � �	 
� �

(ii)

2
X X X

E Cov , .
n

p
n n n


� � � �
 � 
	 
 	 
� � � �

(e) A man rolls a fair die repeatedly until he gets a number

which is perfect square. Calculate the probability that he will

require 5 throws.

(f) For two discrete random variables X and Y :

Var(X) = Var(Y) = 2, Cov(X, Y) = 
1

2

Find :

(i) Var(4X – 3Y)

(ii)
X 5 Y 6

Corr , .
2 3

� 
� �
	 
� �
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4. Attempt any two of the following : [2×10=20]

(a) Define central moments. Derive the relationship between the

first four central moments and raw moments. [10]

(b) (i) State and prove Baye’s theorem. [8]

(ii) Define Pairwise independence of three events. [2]

(c) The joint probability distribution of (X, Y) is given by :

       Y 0 1

X

0 1/10 2/10

1 4/10 3/10

Find :

(i) E(X/Y = 1) [5]

(ii) V(Y/X = 0). [5]

(d) State p.m.f. of hypergeometric distribution. Find mean and variance

of the distribution. [10]

5. Attempt any one of the following : [1×20=20]

(a) (i) If X and Y are two discrete random variables with p.m.f.

given by :

P(X = x, Y = y) = c(2x + 5y) x = 1, 2; y = 1, 2

= 0 o.w.

Find :

(I) The value of c

(II) Marginal p.m.f. of X and Y

(III) Are X and Y independent ? Justify. [2+4+4]
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(ii) Let X � Poisson (m) such that P(X = 2) = 
3

4
P(X = 1).

Find :

(I) P(X = 0)

(II) most probable value of X. [5]

(iii) Let MX(t) = 

4
1 2

3 3

te
� ��	 
� � , identify the distribution of X

hence compute :

(I) P(X � 1)

(II) P(X = 3). [5]

(b) (i) If X and Y are independent random variable, then show

that :

Kr(X + Y) = Kr(X) + Kr(Y)

where Kr(X) is the rth cumulant of X. [5]

(ii) If A and B are the two events on a sample space �

with usual notations, prove that :

P(A) = P(A/B) · P(B) + P(A/B�) · P(B�). [5]

(iii) If X1 and X2 are independent Poisson random

variables with parameters m1 and m2 respectively,

derive the conditional distribution of the random

variable Y = X1/(X1 + X2 = n), where  n is a non-

negative integer. [5]

(iv) If X1 and X2 are independent Poisson random

variables with parameters 2 and 4 respectively, find :

(I) E[X1/(X1 + X2 = 6)]

(II) Var[X1/(X1 + X2 = 5)]. [5]



P.T.O.

Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-131

F.Y. B.A. EXAMINATION, 2019

(For External)

OPTIONAL ENGLISH

Paper-I

Text Prescribed : Interface

(English Literature and Language)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 80 words each (any

three) : [15]

(i) Write a note on the childhood memories of Kalam.

(ii) What does the author mean by saying that there should be

a ‘‘Bharat Brand of English’’ ?

(iii) Attempt a character sketch of Leslie.

(iv) Explain the theme of the story ‘A Day’s Wait’.

(v) Bring out the significance of the title ‘Toasted English’.

2. (A) Answer the following questions in about 80 words each (any

three) : [15]

(i) Define Sonnet and explain the characteristic features of

the Shakespearean sonnet with reference to ‘Sonnet 29’.
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(ii) What is the central idea of the poem ‘The World is Too

Much With Us’ ?

(iii) Examine ‘The Listeners’ as a poem of magic realism.

(iv) Do you agree with Kirkup’s view ‘No men are strange,

no countries are foreign’ ? Explain.

(v) How does Wordsworth comment on modern civilization

in ‘The World is Too Much With Us’.

(B) Write short notes on the following (any two) : [10]

(i) Human Language and Animal Communication.

(ii) Arbitrariness as a characteristic of language.

(iii) Expressive function of language.

(iv) Directive function of language.

3. Answer the following questions in about 120 words each (any two) : [16]

(i) Do you agree that ‘Upper Division Love’ is story of film crazy

youth. Explain.

(ii) How does the film crazy youth take revenge of Sunderbala ?

(iii) Attempt a character sketch of Okeke.

(iv) Comment on the themes of love and marriage as presented

in ‘Marriage is a Private Affair’.

4. Answer the following questions in about 120 words each (any two) : [16]

(i) Bring out the significance of the title of the poem ‘The Road

Not Taken’.

(ii) What request does the speaker make to the sun in ‘The Sun

Rising’ ?

(iii) Write a note on the central theme of the peom ‘The Mountain

and the Squirrel’.

(iv) Comment on the racial discrimination depicted in the poem

‘Ballad of the Landlord’.
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5. Answer the following questions in about 120 words each

(any two) : [16]

(i) Attempt a character sketch of stranger in ‘Lithuania’.

(ii) Comment on the setting of ‘Lithuania’.

(iii) Discuss the major themes of the play ‘Swansong’.

(iv) Write a note on the tragic life of Vasili Svietlovidoff.

6. (A) Write a note in about 50 words each (any one) : [4]

(i) Morphology as a science of words.

(ii) Difference between phonetics and phonology.

(B) (1) Identify the number of phonemes in the following words

(any two) : [2]

(i) Best

(ii) Shine

(iii) Catch

(iv) Bird.

(2) Identify the structure of the following words in terms

of C and V (any three) : [3]

(i) cook

(ii) bat

(iii) play

(iv) about

(v) and.

(3) Identify the vowels in the following words

(any three) : [3]

(i) moon

(ii) fan

(iii) boll

(iv) bring

(v) jet.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-133

F.Y. B.A. EXAMINATION, 2019

(For External)

COMMERCE

[G-1 : Organisation of Commerce]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one question of the following : [20]

(1) What is Commerce ? Explain the importance of Commerce.

Or

(2) What is Wholesale Trade ? Explain the functions of Wholesale

Trade.

2. Attempt any one question of the following : [20]

(1) Define the term ‘Money’. Explain the functions of Money.

Or

(2) What is Retail Trade ? Give the service of Retail Trade.

3. Attempt any one question of the following : [20]

(1) What is Marketing ? Explain elements and objectives of Marketing.

Or

(2) Explain the factors affecting selection of Media.

4. Attempt any one question of the following : [20]

(1) What is Internal Trade ? Explain functions and importance

of Internal Trade.

Or

(2) Comment on ‘Education and Training in Advertising.’
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5. Write short notes on (any two) : [20]

(a) Explain the functions of Retail Trade.

(b) Explain elements of Marketing Mix.

(c) Internet Advertising.

(d) Explain the functions of Storage.

100

 :— (i)

(ii)

[20]

(1)

(2)

[20]

(1)

(2)

[20]

(1)

(2)
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[20]

(1)

(2)

[20]



Total No. of Questions—5+5] [Total No. of Printed Pages—6

Seat

No. [5501]-EXT-134

F.Y. B.A. EXAMINATION, 2019

(For External)

G-1 : EDUCATION

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [20]

(a) Write the nature of ancient Indian education and explain the

aims of ancient Indian education.

(b) What are the problems in primary education ? Suggest remedies

to overcome them.

2. Answer any one question in 500 words : [20]

(a) Explain the role of education in economic development.

(b) Explain the meaning, nature, merits and limitations of experimental

method.

3. Answer any one question in 500 words : [20]

(a) What is mass media ? Explain the role of Radio in education.

(b) Explain the educational work of Mahatma Jyotirao Phule.

P.T.O.
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4. Answer any one question in 500 words : [20]

(a) What is formal and non-formal education ? Explain difference

between formal and non-formal education.

(b) What is value education ? Explain the role of school in develop

values.

5. Write short notes in 200 to 250 words each (any two) : [20]

(a) Educational role of family in changing period

(b) Scope of Education Psychology

(c) Objectives of education according to Kothari Commission

(d) Nature of ‘Shantiniketan’.

100

 :— (i)

(ii)

1. [20]

2. [20]
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3. [20]

4. [20]

5. [20]
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[5501]-EXT-134

G-1 : EDUCATION

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [20]

(a) What do you mean by the Wastage and Stagnation in Primary

Education ? Write the cause of Wastage and Stagnation and

measures to overcome these.

(b) Explain the educational work of Maharshi Karve in detail.

2. Answer any one question in 500 words : [20]

(a) What is Education ? Explain the characteristics of education

process.

(b) Explain the meaning, nature, benefits and limitations of

experimental method.

3. Answer any one question in 500 words : [20]

(a) Explain the aims of education in ancient India.

(b) What is Adut education ? Explain the importance of Adut

education.

4. Answer any one question in 500 words : [20]

(a) What is mass media ? Explain the role of Television (TV)

in education.

(b) What do you mean by Family ? Explain the functions of family.
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5. Write the short notes in 200 to 250 words each (any two) : [20]

(a) Objectives of Pre-primary Education

(b) National Education Policy, 1986—Educational Objectives

(c) Educational Work of Mahatma Jyotirao Phule

(d) Importance of Environmental Education.

100

 :— (i)

(ii)

(iii)

1. [20]

2. [20]

3. [20]



[5501]-EXT-134 6

4. [20]

5. [20]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]-EXT-135

F.Y. B.A. EXAMINATION, 2019

(For External)

MATHEMATICS

FMG-I : Industrial Mathematics

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [20]

(a) Factor the equation x2 + 19x + 18 using the integer coefficients.

(b) Find the slope of the linear function passing through the

points (1, 3) and (2, 5).

(c) Solve :

4(7x + 4) – 2x = 12 + 5(4x – 1).

(d) Define continuous function.

(e) Define inflection point of a function.

(f) If A = 

2 3

4 5

�� �
� �
� �
� �

 and B = 

3 2

4 1

�� �
� �
� �
� �

, then find A – 3B.

(g) Define slack and surplus variables.

(h) Evaluate :

2 .xxe dx�
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(i) Find :

43 .x dx�
(j) Give an example of a matrix A such that A2 = A.

2. Attempt any four of the following : [20]

(a) Let

2 4 4
, if  2;

2

2, if  2.

x x
x

xf x

x

	 � 

��� �
 �

�

��

Discuss the continuity of f(x) at x = 2.

(b) Evaluate :

0

1
lim .

x

x

e

x

�

�

�

(c) If f(x) = g(x) – h(x), then prove that f �(x) = g�(x) – h�(x).

(d) If 7x5y = 9x7 – 8x6, then find 
dy

dx
.

(e) If f(x) = (3x – 5)4, then find f ��(2) and f ���(2).

(f) Find the slope and y intercept of the equations :

(i) 5y = 6x2 + 7

(ii) 3x = 4y + 35.

3. Attempt any two of the following : [20]

(a) Let f(x) = (6 – x)3. Find :

(i) Critical points.

(ii) Relative minimum and maximum.

(iii) Inflection point.
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(b) Sketch the graph of the function :

f(x) = (x – 5)4.

(c) Find the marginal cost and average cost of the following

functions :

(i) TC = Q5 – 7Q + 12

(ii) TC = 24Q – Q3.

4. Attempt any four of the following : [20]

(a) Find a and b such that :

2 3 5

.

3 2 1

a

b

� � � � � �
� � � � � �

� � � � � ��� � � � � �

(b) If A = 

1 3

2 7

� �
� �
� ��� �

 and B = 

3 2

1 6

�� �
� �
� �
� �

, then find AB.

(c) Evaluate :

1 12

3 3

1

8 5 .x x dx

�� �
� �

� �� �

�

(d) Evaluate the area between the curves y1 = –x2 + 10 and

y2 = –x2 + 4x + 2 from x = 0 to x = 3.

(e) Solve the following LPP :

Maximize : Z = x + 2y

Subject to : x + y � 4

x + 3y � 10

x, y � 0
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(f) Draw the feasible region for the following inequalities :

2x + y � 4

x � 1

y � 2

x, y � 0

5. Attempt any two of the following : [20]

(a) A calculator company produces a handheld calculator and a

scientific calculator. Because of limitations on production capacity,

no more than 250 scientific and 200 handheld calculators can

be made daily.

To satisfy a shipping contract, a minimum of 250 calculators

must be shipped each day. If each scientific calculator sold,

results in a 20 rupees loss, but each handheld calculator produces

a 50 rupees profit; then how many of each type should be

manufactured daily to maximize the net profit ?

(b) Use the Gaussian elimination method to solve the following

system of equations :

4x + 2y + 5z = 21

3x + 6y + z = 31

x + 8y + 3z = 37.

(c) (i) Evaluate :

cos .xxe dx�
(ii) Find the producers surplus (PS) for the following supply

curves at the level indicated :

P  =  375 – 3Q 2; Q0 = 10, P0 = 75.



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5501]-EXT-137

F.Y. B.A. EXAMINATION, 2019

MATHEMATICS

(For External)

General Paper I

MG-1 : Algebra and Geometry

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [20]

(a) Define the following :

(i) Equivalence relation

(ii) Prime number.

(b) If p is prime and 2 2a b�  (mod p), then show that :

|( )p a b� or |( )p a b� .

(c) Use remainder theorem to compute the remainder when

4 3 2( ) 3 7 2f x x x x� � � �  is divided by g(x) = x – 2.

(d) If a|b and a|c, then show that a|bx + cy for any integers

x and y.

P.T.O.



[5501]-EXT-137 2

(e) Find the rank of 

5 2
A

10 4

� �
� � �
� �	 


.

(f) If ��
 ��
 � are the direction angles of a line, then find the

value of :

cos2 cos2 cos2� � � � � .

(g) Find centre of the conic :

7x2 + 8xy + y2 + 6x + 6y – 9 = 0.

(h) Find the equation of the plane passing through the point

(2, 1, –3) and parallel to the plane x + 2y + 3z = 8.

(i) Find the equation of a line passing through points (1, –2, 3)

and (–2, 1, 4).

(j) Find the equation of the sphere whose centre is at (–1, 2, 1)

and radius 3.

2. Attempt any four of the following : [20]

(a) Using principle of mathematical induction prove that 2|n2 + n,

where n is a positive integer.

(b) Find greatest common divisor ‘d’ of 143 and 227. Also find

integers x, y such that 143 227d x y� � .

(c) Find the condition that the roots of the equation

3 2 0x ax bx c� � � �  are in arithmetic progression.

(d) Verify Cayley-Hamilton theorem for the matrix 

1 2
A

3 2

� �
� � �
� �	 


.

(e) Write the composition tables for addition and multiplication

in Z7.
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(f) Solve the following system of equations by using Gauss elimination

method :

2x + 2y + 2z = 0

–2x + 5y + 2z = 1

 8x + y + 4z = –1.

3. Attempt any two of the following : [20]

(a) If a and b are any two integers with 0b � , then prove that

there exists unique integers q and r such that a bq r� � ,

where 0 | |r b� � .

(b) (i) Show that any two equivalence classes are either disjoint

or identical.

(ii) Find greatest common divisor of 3 2( ) 1f x x x x� � � �  and

2( ) 1g x x� � .

(c) Find the eigenvalues and eigenvectors of the matrix :

1 2 3

A 0 2 3

0 0 2

� �
� �

� � �
� �
� �	 


.

4. Attempt any four of the following : [20]

(a) Prove that every equation of first degree in x, y, z represents

a plane.

(b) Shift the origin to a saitable point so that the equation

2 6 4 1 0x x y� � � �  will be in the form 2 4x by� . State the

value of b.
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(c) Find the equation of the plane passing through the intersection

of the planes 6x y z� � �  and 2 3 4 5 0x y z� � � �  and the

point (1, 1, 1).

(d) Prove that the straight line 
1 2 2

4 1 1

x y z� � �
� �  touches the

sphere 2 2 2 9x y z� � � . Find the point of contact.

(e) Find the symmetric form of the equations of the line :

x + y + z + 1 = 0;  4x + y – 2z + 2 = 0.

(f) Find the equation of a cylinder whose generators are parallel

to the line 
2 1 3

x y z
� �  and whose guiding curve is the ellipse

2 22 1x y� �  and z = 0.

5. Attempt any two of the following : [20]

(a) Reduce the equation 2 27 6 7 30 10 35 0x xy y x y� � � � � �  to the

standard form and name the conic.

(b) Show that the lines whose direction cosines are connected by

2 0l m n� � �  and 2 2 210 15 4 0l m n� � �  are at right angles.

(c) (i) Find the equations of the planes bisecting the angles

between planes :

2 2 9x y z� � �  and 4 3 12 13 0x y z� � � � .

(ii) Show that the line 
1 2 5

2 3 4

x y z� � �
� �

�
 lies on the plane

2 0x y z� � � .
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Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [5501]-EXT-139

F.Y. B.A. EXAMINATION, 2019

(For External)

LOGIC

(G-I : Introduction to Logic and Principles of Reasoning)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What is Logic ? Explain the nature, scope and subject-matter of

logic. [20]

Or

(a) Show using Venn diagrams of the A, E, I and O. [10]

(b) Convert and obvert the following propositions : [10]

(i) Some birds are active.

(ii) All players are brilliant.

(iii) Some people are not kind.

(iv) All that glitters is not gold.

(v) Some politicians are honest.

2. (a) Explain about traditional classification of propositions. [10]

(b) Explain four figures of the categorical syllogism with

examples. [10]
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Or

(a) What is a set ? Explain types of set. [10]

(b) If A = {1, 2}, B = {1, 3, 5} and C = {2, 3, 5, 7}, [10]

U = {1, 2, 3, 4, 5, 6, 7}

Then list the elements of the following sets :

(1) A � B

(2) A � ~B

(3) ~B � C

(4) A � B

(5) (A � B) � C.

3. (a) Explain in detail about square of opposition. [10]

(b) Symbolize the following propositions using the symbols given

in bracket : [10]

(i) Russell was a philosopher as well as a mathematician.

(P, M)

(ii) It is not true that the question-paper is not easy. (E)

(iii) Either he is dead or alive. (D, A)

(iv) If their are more than three term then the categorical

syllogism is invalid. (T, I)

(v) If you practice writing regularly then and then only your

thoughts will become clear. (W, T)
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Or

(a) Determine whether the following statement forms are

tautologies, contradictory or contingent with the help of

truth table, shorter truth table or truth tree method

(any four) : [10]

(i) q • (q • ~p)

(ii) p � (p � q)

(iii) (p � q) � p

(iv) (p • q) � p

(v) p � (p • q)

(b) What is decision procedure and explain in detail shorter-truth-

table with an example. [10]

4. (a) Prove the validity of the following arguments (any three) : [15]

(i) (1) p � q

(2) p � p

(3) ~q / � ~p • p

(ii) (1) r � q

(2) p • ~q / � ~r

(iii) (1) ~B � ~A

(2) B � D

(3) ~D / � ~A

(iv) (1) p � q

(2) p • r

(3) ~p / � q • r

(b) Explain the method of invalidity with examples. [5]
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Or

(a) Explain in detail validity of an argument with an example. [10]

(b) Demonstrate the invalidity of the following arguments (any

two) : [10]

(1) ~e � ~f

~(g • h) � (e � f)

h � g

 / � ~~g

(2) B � A

~C � ~~A

 / � B � C

(3) P � Q

R � Q

Q

 / � ~R � ~P

(4) A � B

C � D

A � D

 / � B � C

5. Write short notes on any four of the following : [20]

(i) Tautological proposition

(ii) Sub-set

(iii) Deduction

(iv) Obversion

(v) Logical connectives

(vi) Proposition and sentence.
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100

 :— (i)

(ii)

(iii)

1. [20]

A, E, I  O [10]

[10]

(i)

(ii)

(iii)

(iv)

(v)

2. [10]

[10]

[10]
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 A = {1, 2}, B = {1, 3, 5}  C = {2, 3, 5, 7}, [10]

U = {1, 2, 3, 4, 5, 6, 7}

(1) A � B

(2) A � ~B

(3) ~B � C

(4) A � B

(5) (A � B) � C.

3. [10]

[10]

(i) (P, M)

(ii) (E)

(iii) (D, A)

(iv)

(T, I)

(v)

(W, T)

[10]

(i) q • (q • ~p)
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(ii) p � (p � q)

(iii) (p � q) � p

(iv) (p • q) � p

(v) p � (p • q)

[10]

4. [15]

(i) (1) p � q

(2) p � p

(3) ~q / � ~p • p

(ii) (1) r � q

(2) p • ~q / � ~r

(iii) (1) ~B � ~A

(2) B � D

(3) ~D / � ~A

(iv) (1) p � q

(2) p • r

(3) ~p / � q • r

[5]

[10]

[10]

(1) ~e � ~f

~(g • h) � (e � f)

h � g

 / � ~~g
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(2) B � A

~C � ~~A

 / � B � C

(3) P � Q

R � Q

Q

 / � ~R � ~P

(4) A � B

C � D

A � D

 / � B � C

5. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-140

F.Y. B.A. EXAMINATION, 2019

(For External)

SOCIOLOGY

[G-1 : Introduction to Sociology]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following questions in 500 words : [20]

(i) Define Sociology. Explain the subject matter and scope of Sociology.

(ii) What is social mobility ? Explain types of social mobility.

2. Answer any one of the following questions in 500 words : [20]

(i) Define Society. Explain the characteristics of society.

(ii) Define social control and explain formal and informal types

of social control.

3. Answer any one of the following questions in 500 words : [20]

(i) What is social group ? Describe the characteristics of primary

and secondary social groups.

(ii) Write meaning of social movement ? Discuss the pre-conditions

of social movement.

4. Answer any one of the following questions in 500 words : [20]

(i) What is socialization ? Elaborate the aims and agencies of

Socialization.

(ii) Elaborate career opportunities in sociology.



[5501]-EXT-140 2

5. Write any two short notes : [20]

(a) Elements of culture

(b) Gender

(c) Sociology as a profession

(d) Elements of structure.

100

 :— (i)

(ii)

(iii)

[20]

(i)

(ii)

[20]

(i)

(ii)

[20]

(i)

(ii)
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[20]

(i)

(ii)

[20]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5501]-EXT-141

F.Y. B.A. EXAMINATION, 2019

(For External)

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper I

(Outline of Prehistory, Proto History and Early History)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following questions : [20]

(a) Discuss the literary sources useful for the study of Ancient

Indian History.

Or

(b) Describe the salient features of Mesolithic Age.

2. Answer any one of the following questions : [20]

(a) Explain the economic and religious conditions of Harappan

Civilization.

Or

(b) How and why to preserve our Heritage ?

3. Answer any one of the following questions : [20]

(a) Explain the causes for the rise of Jainism.

Or

(b) Discuss the effects of Persian contact with Ancient India.



[5501]-EXT-141 2

4. Answer any one of the following questions : [20]

(a) Describe the achievements of Kushanas
�

.

Or

(b) Write the contribution of the Satvahana dynasty.

5. Write short notes on (any two) :  [20]

(a) Ancient Coins

(b) Megalithic Burials

(c) Chandragupta II

(d) Pallava Art.

100

 :— (i)

(ii)

[20]

[20]
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[20]

[20]

[20]
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(iv) Symbols and abbreviations have their usual meanings.
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1. Attempt each of the following :

(A) State whether the following statements are True or False. [1 each]

(i) Mode can be obtained graphically using less than ogive

curve.

(ii) The standard deviation is equal to the positive square

root of the variance.

(iii) Index numbers are unitless.

(iv) In case of positively skew distribution

mode > median > mean.

(v) Correlation coefficient cannot be negative.

(B) Choose the correct alternative of the following : [1 each]

(i) Which limits are excluded in case of exclusive type of

classification ?

(a) Lower limits (b) Upper limits

(c) Either (a) or (b) (d) Both (a) and (b)
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(ii) If population is homogeneous then...........................is better

method of sampling.

(a) Simple random sampling

(b) Stratified random sampling

(c) Systematic sampling

(d) Two-stage sampling

(iii) Which of the folloiwng measures of central tendency value

is obtained graphically by using Histogram ?

(a) Arithmetic mean (b) Geometric mean

(c) Harmonic mean (d) Mode

(iv) The mean deviation can be obtained about :

(a) Arithmetic mean (b) Mode

(c) Median (d) All of these

(v) If X = constant, then Corr (X,Y) is :

(a) 1 (b) –1

(c) 0 (d) Indeterminate

(C) Answer in brief : [2 each]

(i) Give any two advantages of graphical representation of

data.

(ii) For a moderately asymmetric frequency distribution the

values of arithmetic mean and median are 264 and 276

respectively. Obtain the modal value.

(iii) The standard deviation of a distribution is 5, if the

distribution is mesokurtic what will be the value of forth

central moment ?
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(iv) Interpret the following :

Coefficient of regression of Y on X is 4.2.

(v) Given the following obtain the remaining class frequencies :

N = 100, (A) = 60, (B) = 52, (��) = 32.

2. Attempt any four of the following : [4×5=20]

(a) Define :

(i) Class boundaries

(ii) Relative frequency

(iii) Attribute

(iv) Order of a class frequency.

(b) (i) Determine 20% trimmed mean for a set of 10 values

given below :

10, 7, 6, 8, 10, 12, 5, 15, 18, 20.

(ii) Also explain its advantages over simple A.M.

(c) Prove the Bowley’s coefficient of skewness lies between –1 and 1.

(d) Show that S.D. � M.D about mean.

(e) Given that r = 0.4, �(X – X ) (Y – Y ) = 108, �y = 3,

�(X – X )2 = 900, find number of pairs of observations ‘n’.

(f) In a certain interview, there were 126 candidates of which

70 were boys, 36 candidates were successful among them 20

were boys. Obtain the coefficient of association between success

in interview and attribute boy.
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3. Attempt any four of the following : [4×5=20]

(a) Mention the limitations of index number.

(b) The data on rainfall and yield per acre is as below :

Rainfall (Inches) Yield per acre

A.M. 27 40

S.D. 3 6

Obtain the yield when the rainfall is 29 inches. Given r = 0.8.

(c) Is the following information consistent ?

' ' ' '
1 2 3 42, 20, 40, 50.m m m m� � � � Justify your answer.

(d) If X and Y are uncorrelated variables and 2
x�  = k, 2 2;y� �

find k such that : Var (3X – Y) = 25. Hence, find Var

(2X + 3Y) and Corr (2X, 3Y).

(e) Write a short note on cluster sampling.

(f) With usual notations, show that :

QAB = Q�� = – QA� = – Q�B.

4. Attempt any two of the following : [2×10=20]

(a) What is index number ? What are the problems in the construction

of index number ?

(b) Define the following terms :

(i) Bowley’s coefficient of skewness

(ii) Combined variance

(iii) Independence of attributes

(iv) Positive attribute

(v) Coefficient of determination.
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(c) Compute the Karl Pearson’s coefficient of skewness for the

following frequency distribution :

Marks No. of Students

0–20 05

20–40 12

40–60 32

60–80 40

80–100 11

(d) Arithmetic mean and S.D. of 12 items are 22 and 3 respectively.

Later on it was observed that the item 32 was wrongly taken

as 23. Compute correct mean, S.D. and C.V.

5. Attempt any one of the following : [1×20=20]

(a) (i) With usual notations, prove that : �2 � 1.

(ii) Splice together the following series of index numbers by

continuing :

(I) the Series A forward and

(II) the Series B backward.

Year Series A Series B

1990 107 —

1991 115 —

1992 140 —

1993 150 100

1994 — 120

1995 — 150

1996 — 200
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(iii) Compute mean deviation about median and its coefficient

for the following frequency distribution :

Class Frequency

1400-1600 12

1600-1800 30

1800-2000 55

2000-2200 40

2200-2400 35

2400-2600 28

(b) (i) Suppose X, Y and Z are uncorrelated variables with same

S.D. �. Obtain the coefficient of correlation between

X + Y and Y + Z.

(ii) Fit the curve Y = abX to the population data of a particular

state as given below :

Year Population

(in millions)

1951 140

1961 170

1971 200

1981 250

1991 300

Estimate the population in the year 2000.

(iii) Discuss the effect of change of origin and scale on variance.
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1. Attempt each of the following : [20]

(a) Find a rational number between 4  and 5 .

(b) Define absolute value of x � R.

(c) Evaluate :

2

1

8 9
lim .

1x

x x

x�

� �
�

(d) Give an example of a function f : R � R which is decreasing.

(e) State the Leibnitz’s theorem.

(f) Solve :

sin
.

cos

dy x

dx y
�



[5501]-EXT-143 2

(g) Solve :

y = px + 3 + p4,

where p = 
dy

dx
.

(h) Define exact differential equation.

(i) Find :

1
.

1 2
dx

x x� ��

(j) Define homogeneous function.

2. Attempt any four of the following : [20]

(a) Discuss the continuity of the following function :

2

1
, if  0 ;

2
1

, if  ;
2

1
1 , if  1.

2

x x

f x x x

x x

� � 	



� ��



 � 	 �

�

(b) Find the supremum and infimum of the following sets if

exists :

(i) A = 
1

( 1) :n n
n

� 
� �� �
� �

N

(ii) B = (0, 1).

(c) Determine all x � R that satisfy |x – 1| < |x|.

(d) State and prove Archimedian property.
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(e) Let f : [a, b] � R be continuous function on [a, b].

If f(a) < 0 < f(b), then show that there exists point

c � (a, b) such that f(c) = 0.

(f) Find � and � if the function f(x) is continuous on (–2, 2),

where

, if  ( 2, 0)

2 1, if  [0, 1)

, if  [1, 2).

x x

f x x x

x x

� � � ��



� � ��



� � ��

3. Attempt any two of the following : [20]

(a) Obtain Maclaurin’s series expansion of tan x.

(b) State and prove the Rolle’s theorem.

(c) If

21sin ,y x��

then prove that :

2 2
2 11 2 1 0.n n nx y n xy n y� �� � � � �

4. Attempt any four of the following : [20]

(a) Evaluate :

.n ax b dx��
(b) Evaluate :

52 2
.

dx

x a�
�
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(c) Find :

2
9

0

sin .x dx

�

�

(d) Find the orthogonal trajectories of family of curves y = ax,

where a is a parameter.

(e) Explain the method of solvable for x to solve the differential

equation f(x, y, p) = 0, where p = 
dy

dx
.

(f) Solve :

2

5 24 0.
dy dy

dx dx

� � � �� � �� � � �� � � �

5. Attempt any two of the following : [20]

(a) Convert the differential equation :

3

2 2 5

dy x y

dx x y

� �
�

� �

into homogeneous differential equation and hence solve it.

(b) Explain method to solve homogeneous differential equation :

,
.

,

f x ydy

dx g x y
�

(c) Find an integrating factor for the differential equation

2

3 3

dy x y

dx x y
�

�
 and hence solve it.
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1. Attempt the following :

(a) State whether the following statements are True or False :

[1 each]

(i) Median can be determined graphically using more than

ogive curve.

(ii) In simple random sampling without replacement (SRSWOR),

every unit to be included in the sample has same chance.

(iii) Index number for the base year is taken to be 1000.

(iv) For symmetric distribution Mean = Median = Mode.

(v) For negatively skewed distribution the Karl Pearson’s

coefficient of skewness is zero.
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(b) Choose the correct alternative : [1 each]

(i) In case of inclusive method of classification :

(A) only upper limits are included in the class

(B) only lower limits are included in the class

(C) lower limits and upper limits are included in the

class

(D) lower limits and upper limits are not included in

the class

(ii) If variable X assumes values 5.1, 5.1, 5.1, 5.1, 5.1, then

variance of X is :

(A) 1.5

(B) 5.1

(C) 0

(D) 5

(iii) If the measure of skewness (�1) > 0, then the corresponding

distribution is :

(A) positively skewed

(B) negatively skewed

(C) leptokurtic

(D) mesokurtic

(iv) For simple linear regression model Y = a + bX + �,

where � such that :

(A) Var[�] = 1

(B) Var[�] = 0

(C) Var[�] = �2

(D) Var[�] = �
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(v) In the construction of Laspeyre’s price index number the

weight is considered as :

(A) quantity consumed in current year

(B) quantity consumed in base year

(C) average of quantities consumed in current year and

base year

(D) none of the above

(c) Answer in brief : [2 each]

(i) Define Karl Pearson’s coefficient of correlation (r).

(ii) Define Bowley’s coefficient of skewness.

(iii) Define Paasches’s price index number.

(iv) State the normal equations used in obtaining constants

‘a’ and ‘b’ for line of regression Y = a + bX.

(v) State the expression for 3rd central moment (m3) in terms

of raw moments.

2. Attempt any four of the following : [4×5=20]

(a) The following data represents marks obtained by students in

class :

30, 35, 02, 42, 12, 37, 26, 22, 16, 16,

08, 48, 46, 32, 33, 18, 18, 23, 21, 22,

11, 08, 24, 32, 33, 28, 35, 33, 37, 11,

22, 32, 16, 32, 49, 23, 17, 29, 34, 50.

Prepare stem and leaf chart for the above data.
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(b) Find the median of the following frequency distribution :

Mid-values Frequency

1500 20

2500 35

3500 65

4500 75

5500 55

6500 35

7500 10

(c) Explain family budget method for construction of consumers

price index numbers.

(d) State any two merits and two demerits of geometric mean.

(e) The mean weight of a group of 25 boys was calculated to

be 77 lbs. It was later observed that one weight was misread

as 86 lbs, instead of 68 lbs. Calculate the correct mean.

(f) Explain the concept of correlation. Further explain the use

of scatter diagram in the study of correlation.

3. Attempt any four of the following : [4×5=20]

(a) Examine whether the following data are consistent :

N = 100, (A) = 30, (B) = 80, (AB) = 40.

(b) Find the first four central moments of the following data :

5, 5, 5, 5, 5, 5, 5, 5, 5, 5.
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(c) Compute Laspeyre’s price index numbers for the following

data :

Commodity Base Year Current Year

p0 (in Rs.) q0 (in kg) p1 (in Rs.) q1 (in kg)

A 13 50 8 53

B 10 100 13 125

C 12 60 15 65

(d) In an examination 61% passed in English, 50% passed in German,

while 30% failed in both the subjects. Using the relations between

class frequencies in attributes, find the percentage of students

passed in both the subjects.

(e) For the following data compute Karl Pearson’s coefficient of

correlation :

X Y

10 10

20 9

35 5

41 10

50 4

65 5

75 3

80 7

90 8

70 2

55 10

25 1

(f) Define :

(i) Mean deviation about mode

(ii) Quartile deviation.
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4. Attempt any two of the following : [2×10=20]

(a) Compute mean deviation about mean for the following frequency

distribution :

Size of Item Frequency

4—8 6

8—12 10

12—16 18

16—20 30

20—24 15

24—28 12

28—32 10

32—36 8

(b) In a study of correlation between the amount of rainfall (X)

and corrosion of iron building material (Y) measured in suitable

units, the following data were recorded :

X Y

4.3 86

4.5 90

5.9 115

5.6 102

6.1 122

5.2 100

3.8 76

2.1 50

7.5 145

7.0 135

Obtain the equation of line of regression of Y on X of the

above data.
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(c) Explain the concept of skewness and kurtosis of the distribution.

Further state the measures of skewness and kurtosis based

on moments. Also explain the concept of skewness using Box

Plot.

(d) If the attributes A and B are independent, then show

that :

(i) A and � are independent

(ii) � and � are independent.

5. Attempt any one of the following : [1×20=20]

(a) (i) Explain the inclusive and exclusive method of classification

with suitable illustration.

(ii) State any five characteristics of a good statistical

average.

(iii) Splice the Index series A forward :

Year Series A Series B

(2005 = 100) (2008 = 100)

2005 100

2006 115

2007 120

2008 125 100

2009 117

2010 120

2011 135

2012 140

2013 145

(iv) Explain the difference between correlation and regression.
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(b) (i) Explain the terms : SRSWR and SRSWOR.

(ii) Coefficient of variation of two groups are respectively

45% and 50% and their standard deviations are 15 and

20. Find their arithmetic means.

(iii) Define Mean, Median and Mode of grouped frequency

distribution. Further state the relationship among Mean,

Mode and Median in case of symmetric and asymmetric

distribute.

(iv) From the following data construct the index number for

the year 2010 taking 2001 as base by using simple average

of price relatives :

Item Price (Rs.) Price (Rs.)

2001 2010

A 5 10

B 3 6

C 8 9

D 10 15

E 9 11
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1. State in detail five branches of Western Philosophy. [20]

Or

Discuss the concept of ‘Dharma’  and critically examine

‘Varnashramdharma’ .

2. Explain : ‘Pratyaksha’  and ‘Shabda’  as the sources of

knowledge according to Indian ‘Darsana’  system. [20]

Or

Critially evaluate the relation between art and morality.

3. Give an account of fundamental principles of Buddhist philosophy

in detail. [20]

Or

Explain in detail Kant’s deontological ethics.
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4. Discuss the concepts of ‘Vada’ , ‘Jalpa’  and ‘Vitanda’

. [20]

Or

State and explain the nature and attributes of God.

5. Write short notes on any two of the following : [20]

(1) The concept of ‘Darsana’ 

(2) The concept of Western Materialism

(3) The concept of ‘Rut’ 

(4) Nature of art.

100

 :— (i)

(ii)

(iii)

1. [20]

2. [20]
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3. [20]

4. [20]

5. [20]

(1)

(2)

(3)

(4)
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